
Can-Am Maverick Trail Brush Guard w/winch mount 
P/N: 13582 

Fits: 2018 Maverick Trail 
 

Installation Instructions: 

Includes: 
1. (1) Brush Guard (13582-01) 
2. (1) Mtg Bracket (13582-02) 
3. (1) Cover Plate (13582-05) 
 
Note: If you bought the option-
al color backer plate it will be 
packed separately. 
 
Hardware Kit: 
1. (4) U-Bolts 3/8-16 x 1-3/4” 
2. (6) 3/8 -16 x 1” Carriage Bolts 
3. (14) 3/8-16 Nylon Flange Nuts 
4. (1) Logo Sticker 

 
Tools Needed: 
1. 3/8” Wrench 
2. 3/8” Socket 
 
NOTE: 
1. Accepts a standard center spool winch 

with a 4-7/8” wide  x 3” deep bolt pat-
tern.  We recommend the Viper Elite 
3500 regular spool winch. These are 
available on our website. 

       WWW.EXTREMEMETALPRODUCTS.COM 

1. If you purchased the optional colored 

backer plate it will go between the 
bumper and mounting bracket. Set this  
in place before mounting your brush 
guard to the bracket.  

 
 

Installation should be done by a 
certified technician. 
 
Installation: 
1. Mount the bracket to the two 

front tubes.  You will want to ad-
just this up or down to make the 
front of it perpendicular with the 
ground.  Once you have it in the 
correct location tighten the nuts. 

2. If you are using a winch bolt the 
winch to the brush guard as 
shown.  Follow the directions 
that came with your winch at 
this time. 

3. Using the carriage bolts mount 
the brush guard to the bracket 
and tighten the nuts. 

4. Using the remaining carriage 
bolts mount the Cover Plate to 
the frame below to cover the 
stock winch fairlead location. 



Fig.1 

Fig. 2 

Fig. 3 

Fig 4 

Fig. 5 

Fig. 6 

Fig. 7 

Fig. 8 


